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Correct Marks : 1 Wrong Marks : 0

Let E be the set of all real mlmbers
Statement I : The function f': L—E %J — R defined by f(x)=secx+tanx isa

one - one function.
Statement IT: The function f: [G, ®) — R defined by f(x)=2x is a one — one

function.
R 030 TP Dogirg Dned ec¥oeiroe.
DSrSST [ (x)=secx+tanx P 953G £ : [—”—; g] R oo ad
0358 HR0. -
DOFSSI = f(x)=x" P 8BS f:[0,20) > R D000 808 ©9:33¥ DaS05asm.
Which of the above statements is(are) true?

D DEPEIOS 0 (D) ST

Options :

1.

Statement I 1s true, but Statement II is false

RBPGS T 200N 70 RAPGS T HOALSL 7t



Statement IT 1s true, but Statement I 1s false

PBTPOS I DOGREE T PBFPAI T LOTVNG 570

2. %
Both Statement I and Statement IT are true
ééﬁﬂﬂéni I Sodaiw é@ﬁﬂdﬁ:& IT Dot K}ég});ﬁ&l
3.¢
Both Statement I and Statement IT are false
é@ﬁ“cﬁfﬁ I cdaiw “@@iﬂﬁrﬁ 1T Dodis K}E}@Q;ﬁ&) 500
4. %
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Correct Marks : 1 Wrong Marks : 0



Let B be the set of all real numbers. Let f: R - R be a function defined by
[2x—5, ifx<-3

Fflx)={x+2, E=3<x«5
|3x+1, iLx=5

R &30 P08 Ddearg e @cbivetre. f:R - R Dahalsin

F:{-—i if x < =3
f(x)=9x+2, if-3<x<5 P Agovientiodd.
13.x:+1, ifx>=5
Match the following
508 PR BBNGNG
List—1 List —1II
Q8 -1 L8 -1II
A) f(-5)+f(0)+f(-1)= D 16
B) f(f(5)+101(-3))= I 40
C) f(lf{_‘l')‘): Im) -32
D) r(r(r()= V) -12
V) 19

The correct match 1s

DO 2289
Options :

A B C D

111 IT v I

1. ®



Vv IV I I11
2. %
A B C D
IV Vv II I
3.9
A B G D
IV Vv I1I I
4. %
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f2 1 2 ¥ 2 8]
IfA+B=|1 2 0[.AB=|1 1 0| thenA2+B(A+B)=
10 2 2 3 2 %)
% 3 9] 1. 2 2
A+B=|1 2 0[,AB=|1 1 0| wond®dA’+B(A+B)=
D 2 2] 1 2 1
Options :
[4 6 6
|3 4 2
11 6 3



4 9 6]
3 § 9
4 7 4]
2. ®
6 10 8
2
4 6|
3. _
3 4 4]
3 3 B
0 4 2|
4. %
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A.P. B are 3x3 matrices. If |—B|: 5 |BAT| =15, |PIAP = —27.then one of the values

of |F‘| 15

A.P.B eo 3x3 &W§§w~
2u8 DS

—B|=5.[BAT|=15 500 [PTAP|=-27 wond |P| g,

Options :
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%
If Aisa 3x3 matrix and [A|=— then |A™ (Adj{Ade}_}‘ =

D | -

A7 (Adj(Adia))

A a8 3x3 ¥ b0k |A| :% ©0wd

Options :
8
1.«
1
8
2. %
1
2
3. %
2
4, %
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Instruction Time : 0
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Let x=a, v= f3, z= y be the unique solution of the system of simultaneous linear
equations 2x+3y—2z+4=0,3x—-4y+3z+5=0,kx—-2v+z+3=0.If a=-2 then

x=a,y=0,z=y &30 2x4+3y—2z4+4=0,3x—-4y+3z4+5=0, kx—2y+z+3=0

7 )

693 De0OE BT DAESE a‘igé{}} VAV 53;_% P&eS i 8oele. =2 o k=

.. 2
3 5
1. %
5
|
2. %
3 5
] 2
3.¢
5
1
4. %
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Instruction Time : 0
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; s i RUE=2Y o 2913y

If the point (x. v) satisfies the equation ST} e 2+l —3y) .thenxt+y=
J4i i—3

x+i(x—2) . 2y+i(1-3y)

———————————— —F R A ———

eDESEPDY (1. 1) Nolled) D DOD, x+y=
i - 5 ) (- 9) ) Oyf 20X, X+

Options :



1. %

2
2.

0
3. %

|
4, ®
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If cosa+cosff+cosy=0 and sine +sin f+sin =0 then
cos2a+cos2f+cosly=

cosc +cos f+cosy =0 dolw sina+sin f+sin ¥ =0 ©owd

cos2a+cos2f+cos2y=

Options :

b | w2

& B, o)

ra
cos” —+cos  —+cos” —
. .

— —

Ism(a+ B+))



cos(a+ B)+cos(f+y)+cos(y+a)

4. &

Question Number : 9 Question Id : 105615329 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0

One of the values of (-32i)5 1s

]

(—32i)5 %), DSOS el dLvd
Options :
o 2w
4cis
3
1. %
. 3
dcis
5
2.9
4 cis —
3. % )
b
dcis —
4, ®
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If the quadratic equations x* —7x+3c=0 and x* + x—5¢=0 have a common root,

. . 2 .
then for non-zero real value of ¢ the sign of the expression x” -3x+c¢ is

X =Tx+3c=0, x* +x-5c=0 93 $& HDESPO 2.8 G0y & Sreo &old, ¢ GO,
Ir3gess PR Denstd 17 —3x+c @S Do

Options :
negative for all x &

©) XE R e mwe&éﬁo

1. %
positive for all x <(1,3)
o) x(1,3) ok S
2. %
negative for all x (1,3)
@) ¥ (L 3) ok el
3. %
positive for all xR
©d) xR O Sodhy %o
4.

Question Number : 11 Question Id : 105615331 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



- f.(x):612—181+21
' 6x’ —18x+17

Then 14m—-Tn=

.Ifm is the maximum value of f(x) and f(x)>nVxelR

6x° —18x+21
f(x)= 65" —18x+17
f{.x}}?i VxeR ewond® 14m—-Tn =

980, f(x) Ny (09 D m SO

Options :

=1
1. ®

23
2.9

35
3. %

42
4. ®

Question Number : 12 Question Id : 105615332 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a, B, are the roots of the equation x° +x* +x+r=0and & + F° +° =5, then
=

! 3 3 3 3
X+ Fx+r=0 cwg Srodow a,f,y ook a+f7+y =5 wond r=

Options :



2
] %
1
2. %
|
3.9
1
2
4. %

Question Number : 13 Question Id : 105615333 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5 ] . 5
If S 1s the sum of two roots of the equation 6x° —25x” +31x* —31x* +25x—6=0 then

the sum of all non-real roots of the equation is

. 5 L
6x° =252 +31x* —31x" +25x—6=0 CInE; Totd ahrere dwdo S Sowd DSl

T8y, @) TPRISS PUrw Qo

&
Options :
does not exist

adg500¢90 5L

i

ae

1. ®

2. %



LS L

3.

| b2

Question Number : 14 Question Id : 105615334 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

If 1++/2and 2—i are the roots of the equation x* +bx’ +cx’ +dx+e=0 where b. c.

. . 2
d. e are rational numbers. then the roots of the equation bx” +cx+d =0 are

b. c. d, e £ W5EEH0H Dowgen HOAKH 14 V2, 2-i o at+bd +exl +dx+e=0

DE0ESEIe ), Dot darereond, bx’ +ox+d =0 HESee Gy reren

Options :
real and different

PS50 SO DS 50
1. #

real and equal

PUTIININVINVSTOV WIS TN VIV NN
2.¥

purely imaginary

08 503580



complex conjugate

0o C vn}v:CﬁQJrFé

e,

Question Number : 15 Question Id : 105615335 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let the transformed equation of 2x* —8x” +3x* —1=0 so that the term containing the
cubic power of x is absent be 2x* +bx* + cx+d = 0. Then b=

2x* —8x" +3x7 —1=0 & x oW WS PSP FONS DoP) SRed Johrr Sd)y

SrarotsS NESEie 2x! +5x" +ex+d =0 9508000, @)\ b =
o

Options :

—18
1. ®

—15
2. %

-9
3.9

—16
4, %

Question Number : 16 Question Id : 105615336 Question Type : MCQ Option Shuffling : Yes Display Question
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a. b. ¢ are three particular speakers among the 10 speakers of a meeting. The number of
ways of arranging all the 10 speakers on the dias in a row so that all the three speakers
a. b. ¢ do not sit together is

2u8 Dadoraddets ¢ 10 oDod &éaﬁﬁfﬁéoue_“f ab.ce @@%oéwﬁ:&i c;‘ior‘jada &a’.‘umg"n}c‘bw.
SOEDS S 10 Dol &ITGOHUD a. b, ¢ @ Snfodr $OD wﬁarﬁﬁm}om‘“ Goltotw

@’ Jﬁ@ﬁ DT ?@o@ﬁ

Options :

714 (7))
1. ®

89 (8!)
2. ®

719 (71)
3. %

84 (8!)
4.

Question Number : 17 Question Id : 105615337 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
The exponent of 6 in 72! is
72! &5 6 Cfi.)Jé"g S

Options :

34



35

Question Number : 18 Question Id : 105615338 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

5]

If the 4% term in the expansion of | — - | is —20. then xy =
; 6

X 2y ik o 3 b
‘ —— | 8y DRGRS 4 & Hite —20 oD Xy =
- =

Options :

2
1. %

3
2.9

3
3. %

27
4, %

Question Number : 19 Question Id : 105615339 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If | ‘T:_B dy = A +Blog(2x-1)+Clog(x—1)+K then A+ B+ C=
Y (x-1D"(2x-1) x—1

I .r}+3 iy = i +Blog(2x-1)+Clog(x-1)+K sow@ A+B+C=
(x—1)"(2x-1) x—1

Options :
1. #

11
2. %

3.¢

|
4. %

Question Number : 20 Question Id : 105615340 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

(A B)
2 +7 A  Bx+C . ) | .
If——— = +———. then the determinant of the matrix | 2 | 1s
|[~x-+]_][,1-—2] x—2 x4+l l L 3
) (A B)
- SR A Bx+C s
— = DT wond, | 2 | SO g, agrssam
(P +1)(x=2) x-2 x +1 | C = .
Options :
5



2. %

94

25
3. %

32
4. ¢

Question Number : 21 Question Id : 105615341 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If tan 15° and tan 30° are the roots of the equation x° + px +g =0, then pg =

tan 15° o5060%w tan 30° en x* + px + g = 0 0 Sreren wowd, pg =

Options :

63 +10
1. % VG

10-6+/3

3
2.¥

10463
3

10— 643
J3



Question Number : 22 Question Id : 105615342 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
( x— v A
. 2 )

% -

If cosx+cosy=p.sinx+siny=gq.then cos

#
f

; ; ‘ X—1
COSX+COSV=p.5INX+sIN V=g YOS cos| 2' |—
\

/

Options :

. r‘f}i __I_q,,'!

2
1. v
29
-
2. % -
£ f?-ffr‘|
L 3 )
3. %
AP+
4
4. %

Question Number : 23 Question Id : 105615343 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

3 , : .
HA+B+C= T then 4sin AsinBsinC+cos2A +cos2B+cos2C =

3T SO . :
A+BH+E— — oow@® 4dsmAsmBsinC+cos2A +cos2B +cos2C =

Options :



sin(A+B+C)

1. ¢
cos(A+B+C)
2. %
sin(A+B+C)
3. %
2—cos(A+B+C)
4. %

Question Number : 24 Question Id : 105615344 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

€41 ':“{?_-h: +14 3

4" —e™)

Options :

. 2
sinh” x+coth™ x

1.+
3 ) 2
sinh - x4+sech™ x
2. %
9 bl
cosh x+sech™ x
3. %

2 2
cosh"xv+tanh™ x



Question Number : 25 Question Id : 105615345 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

| .

If tanhx = = then sinh2x—sech2x =
1 .

tanhx = — ©oWd sin h2x—-sech2x =

Options :

29

15
], %

11

15
2.

3
3. %

=13

15
4. %

Question Number : 26 Question Id : 105615346 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

33

In triangle ABC. if A 1s acute. C is obstuse. sin A = =5 a=3 and b=35, thenc=

; 343
a8 Sabazo ABC &, A 0w §'acin. C (&) Smadn, sinA = 1{1_, a=73 bl b=35,

eond ¢ =

Options :



7
1. %

.
2.¢

14

3
3. %

6
4.%

Question Number : 27 Question Id : 105615347 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A denotes the area of triangle ABC, then (bsinC+csinB) (bcosC+ccosB) =

A =30 Sabezo ABC Ciwdy Jergd) Wiy, (bsinC+cesinB) (bcosC+ccosB)=

Options :
abcosC
1. ®
28
2. %
becos A
3. %
4A

4.



Question Number : 28 Question Id : 105615348 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Let 4 be the area of in-circle and 4, 4,, 4, be the areas of ex-circles of a triangle. If
A =4,4,=9,4, =16,then 4 =

o

A 30 2.8 Sphesdn sy @B SyBadn JPugdn 0aln 4, 4,, 4, w u Sabazaw
CU0EY, By 5y Beine) JPLrLD @adBete. A4 =4,4, =9, 4; =16 wond 4=
Options :
81
1. ®
61
169
2. %
144
61
3. %
144
169
4.

Question Number : 29 Question Id : 105615349 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If 3i— “'\} + 2k, Tig 2} —ak, i- 3} +4k and ~7i- 17} +16k are position vectors of the
points A, B, C and D respectively, then the angle between AB and CD is

3i—5j+2k, Ti+2j—4k,i—3j+4k 0% —Ti—17/+16k w0 SExP A, B, C 00050
D 2ot CI0Ty P DOI wond, sipyi AB 8o CD © iy Sasw

Options :
0
1. %
T
4
2. %
2
3. %
T
4.

Question Number : 30 Question Id : 105615350 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If A(IZ; + } - E), B()ii + 5} + 41%), C(—4E - 1} + 2%) and D(—i_f - 2} - SE) are four points
in space such that AB=xAC+ _1'5 for some real numbers x= 0.y =0 then
17(1+9) =

oot A(2i+ j—k), B(Ai+5)+4k). C(~4i+3j+2k) dasn D(—i—2j+3k)
@3 et Boddaden, x# 0,y #0 § AB=xAC+ yAD echgtp Gotl, 17(1+9) =

Options :

5

1. ®



2.

.
3. ¢

9
4. %

Question Number : 31 Question Id : 105615351 Question Type : MCQ Option Shuffling : Yes Display Question
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Let a plane P has the points 1_', ; and i+ } +k . Let L be the line through the point A and

parallel to the vector ;—; +k. If the plane P and line L intersect at a point B(0,3,2)

and the distance from A to B 1s 3 units. then equations of the normal to the plane P
through A are

P &3 $0o Dot0ehen i, j o000 i+ j+hk O 00 dod ©emre. L ©3 S A
2oi06d) TEFEP [ — j+hk DO DTS &obd 9HEeTRo. St P 060 O L ©
DotéS Dothded B(0,3,2) 000k A S0l B & o &rdo 3 05raga, P & A S0l HS

VR DR eSS

Options :
x—3 y z-5
1 1 ~1
1. ¢
¥t3 g=p zl
1 1 -1
2. %




x+3 -6 2+l

4, ®

Question Number : 32 Question Id : 105615352 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0

- - _ _ _ _ _ P 1
Let a=i+j+k and b be two vectors such that a-b=1. CUH(&,P}]ZE and the

components of b w.r.t (.{'1 7, k] be integers. Then the number of possible vectors that

represent b is

- - - = — ) - - SR | e
a=i+j+k S0cn b ©F Do DA a-b=1. {:{Js(a,b]ZE ook (i, j, k) ©

O)Ps b CIE) wodn PY Degtn BWOLLQIT &) 0lEetPe. @& b D

AP Dow ére.nr:fu,g @) bade Eisoa:.ug

Options :

1
1. %

2
2. %

3
3.

4
4, ®

Question Number : 33 Question Id : 105615353 Question Type : MCQ Option Shuffling : Yes Display Question
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Correct Marks : 1 Wrong Marks : 0



Let 7, be the plane passing through the point 27 — j + k and perpendicular to the vector
ai+ 2}— 3k and 7, be the plane passing through the point i+ 2} ~k and

perpendicular to the vector i—2 j+k .If @ 1s the angle between the planes , and 7,

||3 : -
and cos ¢ =— = then the integral value of a 1s

T, O30 2i—j+k ©F Dotded) RowFEP ai+2 ] -3k ©I DO Lot Sl B
00K T, O30 i+2—k ©3 Dolied) DewFer i—2 j+k O HOTH Vool &ol
B @b8ootre. Ty, T, Serw iy Swe F HOAW cos ——Jg ©ow® a dingy
SR8 QLD

Options :

(R

4.

Question Number : 34 Question Id : 105615354 Question Type : MCQ Option Shuffling : Yes Display Question
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Instruction Time : 0
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If a and b are two vectors such that a=2i+ 2}+pﬂ?. ‘5‘ =7.a-b=4 and

‘axh‘—ﬂ 17 thenp=

a, b ©30eth 0¥ a=2i+2j+pk. [p|=7.a-b=4, [axb|=517 echgeurr
Gold, p=

Options :

+35

3.

4. %
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The mean deviation from the mean of the discrete data 1. 3. 4. 7. 11, 18,29, 47. 78 15

1.3.4.7,11. 18. 29, 47. 78 &3 ©9:508y& &gPedR8 abdigeido ol adddigadd ddendo

Options :

(]
-
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When two dice are thrown. the probability of getting a prime number on one die and a
composite number on the other is

o=

Doty FPOFOD FRoISYE, &f POE P YIS Ko, IO TPRD Voo Koagd

il
Options :

1
1. ¢

1

4
2. %

1

2
3. %

1

6
4, %
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Correct Marks : 1 Wrong Marks : 0

Let A, B. C be three pairwise independent events of a random experiment. If

P(EUE):%,P(A)P 0.P(B)=b and P(C)=c,then P((BNC)|4)=

2.8 OSeS )8 DOIriees” A, B, C e &30 ar0rP 03@ets dndodudig 3 dudodechiootro.

P(EUE):

2 | —

P(4)>0,P(B)=b 580% P(C)=c,eowd P((BNC)|4)=
Options :

l+b-c
1. %

2+b-c

3.¢

4. %
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Two dice are thrown and the sum of the numbers appearing on the dice is observed to
be a multiple of 4. If p is the conditional probability that number 4 has appeared atleast
once, then 3p+2 =

Ooley FPRATOD G R, FIEUD EANeDT ez Bo 4 ClE)y (edeslorr
(IahowizGol). Doty 4 EdR0 a8 PO EAReIG"AS (1L A0S Dozl p WOW®, By

Ap+ 2=

Options :



25

]2
1. ®

1

6
2. %

7

3
3.9

5

2
4. %
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In a random experiment of throwing 5 coins. the number of heads 1s defined as a random
variable. The mean of the random variable 1s

5 TPHO0 S FR oiwc‘égj&aé ?’Scﬁfﬁu@“‘, ENENV) LSRR STEALINY oiwncﬁé%sf SOTHP

@{55-3)0@&). & ofﬁiﬁéﬁgé WD QIS @o¥ alilgaie

il
Options :
o
3
1. %
3
2
2. %
7
9

3. %
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The variance of a Poisson variate X'is 2. Then P(X = 3)=

R

a8 PowER Woor3 X gy, IS 2. & P(X 23)=

Options :
& =7
2
1. #
e -3
&
2. %
=5
e’
3.9
4
fimieg
2
4, &

Question Number : 41 Question Id : 105615361 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



If the perimeter of a triangle 1s 20 and two of its vertices are (—5. 0) and (6. 0). then
the locus of the third vertex is

28 ga‘fomo -;‘o%m“we:’a 20 005w PR Colld %’c;}sim_u (—5.0). (6. 0) ®wowe 3 S %{n:ﬁ.&
Cﬁﬁé& ZelRdo

Options :

1.

2. %

40x* — 81y —40x 800 =0

40x* +9y* —25x+800=0

40x* —9y* =800

5x2 -3y +3x—4y+25=0
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The transformed equation of 33t +4xy+ 37 —8x—4y-4=0 15
F(XY)=aX*+2hXY +bY* +c=0 when the origin is shifted to a new point by the

translation of axes. Then f(L1)=

S0 DolDedD VPSS ©F DOSYS WITT a SFSS Dolided) SEH SO TaY
3 +H4ar+17T —8x—4y—4=0 o3 DdESme | cwd  GrFesd  1dbEdme
F(XY)=aX? + 2hXY +bY  +e=0 wond f(1,1)=

Options :
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If the line 2x
B (3,-2) inth

4m:3n 1s

3y +4 =0 divides the line segment joining the points A(-2, 3) and

e ratio m: n . then the point which divides AB in the ratio

A(-2,3), B (3,-2) Dotoeperrs 93 S Do) 2x-3y+4=0 @I Om m:n

o B = Doy ol
ci"..'n.gcb'?jf.-‘ un.--r.ﬁdu%

Options :
(-17,18)
1.v
(59 66)
\ 777 J
2. %
(-5.6)
3. %

,AB & —4m:3n QQQ%@{ D23e8eld Wola))



Question Number : 44 Question Id : 105615364 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If the lines L,=2x+y+3=0,L,=kx+2y-3=0 and L,=3x-2y+1=0 are

concurrent then the cosine of the acute angle between the lines L2 = 0 and
2x-5y+7=0 1s

Li=2x+y+3=0,L,=kx+2y-3=0 o0dcin L;=3x-2y+1=0 o3 Opw

WRFTOoNS Ly = 0 3000 2x -5y +7 =0 e Spo dbdsiio Lw §e Gy S~

Options :

1. ®

[ 15 )

{24029 )
2. ®

(25)

l29)
3. %

(20)

L 29 )
4.
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If Q is the image of the point P(1. 1) with respect to the straight line x + y+1 =0, then
the length of the perpendicular drawn from Q to the line 3x -4y +3=0 1s
x+y+1=0 @3 J6F D@ Gyarg P(1. 1) @98 2oload GInE) D8z Q W0, Q ok

3x—4y+3=0 J5% Sa¥ HAS Voo CIVE), &)

Options :
5
2
1. ®
2
2. %
1
3.¢
1
2
4, %
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The centroid of the triangle formed by the lines x-3y+3=0,x+3y+3=0,

x+y—1=01s

x-3y+3=0,x+3y+3=0, x+y-1=0 Spoes’ 3369353 S8 QI SeleTiain
Options :
[.ii=] )
| {]‘ !
\73)



:21_1'

!\3 4
2. %

[ L)

1__‘_’];
3. %

T R

|L,—

Vg
4, %
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; 40 ) ;
If the slope of one of the lines represented by 5% +?xy +ky” =01s 3, then the angle

between the pair of lines 1s

40 :
5x° 4.—?1}' +h’ =0 5 Dowd Doty DS 208 TP dPen 3 ®owd, & Jol JY) a0dg
§'tso

Options :

1. %

S

2. %

3. %
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Ifaline L is common to the pairs of lines 6x* —xy—12y* = 0 and 15x” + 14xy -8y =0,

then the combined equation the other two lines is

6x* —xy—12y" =0 0050 15x7 +14xy - 8)” =0 &3 Saraurryeso L &

20w WHSS Toth DL Vool V¥

Options :

10x* —19xy+ 63> =0

1.v
5x" ~dxy+7y> =0
2. %
X’ =9xy+y*=0
3. %
Bty 6xy +1 1_*.‘2 =0
4, %
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If L is a line passing through the point (—1,1) and parallel to the common line of the

pairs of lines 6x” —xy—12y? =0 and 15x” + 14xy —8y* =0, then the equation of pair
of lines jomming the origin to the points of intersection of the curve

2x? —xy—3*+x—vy=0 and the line L is

L o3 8580 (-11) Dot Hoomder 6x°—xy—12)'=0 ok
1557 +14xy -8y’ =0 Oarclurryo  &ds  O8Y  OB%  ISreBSe® ol
2x —xp—y +x-y=0 Sardute o0 IEY 3 L © Dok Dofddusd re
otivades” 9% Sarosnisy Dd¥dee

Options :

2 2
- —xp—yr=1

1. %

X4xy-y=0
2. %

x2-y?=0
3.¢

S 2

2x +3xy—-6y =0

4, %
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From a point A(0. 3) on the circle (x+2)* + (¥ —3)* =4, a chord AB is drawn and it is
extended to a point Q such that AQ = 2AB. Then the locus of Q is

(x+2)+(y—3)" =4 3380 D KL 28 Botah A0, 3) ok af &g AB HCLLIEIE
00050 HAD Q O Jodned) S5 AQ = 2AB wohglitn TGO, BRI Q s,

Options :



(x+4)*+(y-3)" =16

1. ¢

(x+D*+(y-3)" =32
2. %

(x+1)°+(y-3)" =4
3. %

(x+1)*+(v-3)1"=1
4. %

Question Number : 51 Question Id : 105615371 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If m,, m, are the slopes of the tangents drawn from a point (1,-3) to the circle

X' +y" —6x+4y+12=0 then 9(m; +m] )=
(1,-3) o& x*+)" —6x+4y+12=0 Syza8 HAS D)8 S Peven my, m, wod
Q(m;‘ +m; } =

Options :

16
1.+

-2
Lh

2. %
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If A. B are the points of contact of the tangents drawn from the point P(-2,-3) to the

circle x> +3? —8x—10y+5=0 and the chord AB subtends an angle @at P then tan 6=

A.B ew P(-2,-3) otad ol x° + 17 —8x—103+5=0 &3 )& HIS 063 Saw
o0&y, 0383 DWoltiiadew OO P & AB a7y O §'tic § ©90w® tan =

Options :
3
4
1. ®
24
7
2.¢
7
24
3. %
4
3
4, ®
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. - . 7
The equation of the transverse common tangent of the circles x* + y* —6x—8y+9=0

and x>+ +2x-2y+1=0 is

x4+ —6x—-8y+9=0, X+ +2x-2y+1=0 &3 ST GINEy BUgE eyl 083
O w80

Options :

4x+3y—-4=0
1.9

3x+y—1=0
2. %

2x—y+2=0
3. %

x+2y-3=0
4. %
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If @ is the angle between the circles x*+31>—2x—4y—4=0 and

x*+37 —8x—123+43=0 then |7secd—18cos 6|=
X+ —2x—4y—4=0, X"+ —8x—12y+43=0 o3 Sygro iy SFae § wond
?secﬂ—18005§|=

Options :

i1
1.



2. %

0
3. %

1
4. %
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If (ﬂ%) is the radical centre of the circles S=x’+)y +ax+6y=0,

S'=x"+v+2ax+av+6=0 and S"=x"+3+6ax—ay+3=0 then the distance

between the radical centre and the centre of the circle S'=0 is

S=xl+1 +ax+6y=0, 5 =x"+1 +2ax+ay+6=0 SHOON

S"=x’+y’ +6ax—ay+3=0 oI )T Hre SogSo (ﬂ%] ©900S Jure) Sogiad
0BG 5= 0 & y83e50 Gty Somrs Koy o Erbo

Options :
3
1. ®
15
2. %

b‘%'
Lh

3.
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The vertex and the focus of the parabola 2x? 4+ 5y —6x+1=0 respectively. are

2 = : -
2x7 +5y—6x+1=0 & Hordeolain g, 300 ok e S8Orr

Options :

(-4 7% (-3 -5

I 5%
1. %

(<3 Ty -5 575

R
2. %

3 T % 3 53

Sk
3. % . |

s 7Yl 3

EaniEe
4, &
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The axis of a parabola 1s along the line y = x and the distance of its vertex A from

(0.0)1s V2 and that of its focus S from (0.0) 1s 24/2 . If A and S lie in first quadrant.
then the equation of the parabola in parametric form is

w8 VoSO TINE) BFo ¥ = X B8 Jowws &ol. (0. 0) ok S350 A K o &rde V2
a00o3w (0, 0) ook woa) S 5o Mo Srdo 22 . A 56k S e 30SE PSS &old,

DTPE0EI0N BretS DTSN mauitte

Options :
x=(t+1),y=(t-1)
1. v
T =0y
2. %
2 ; 2
x=(r=+2) .y=(t++2)
3. %
g1 5 g =it=5
4. %
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b 3 v

Let S ng' -—1=0. §'= i—F%—l: 0 be two intersecting ellipses. If

a b sl

# y 5 P % )
. : ' g o B IE — - :
placost),bsindl) and Q'l ncos[ ;+6’ |.Z)su1‘ =+ ‘ J are their points of mntersection
\ P / , A

then %[az,{fz +bzrrz):

55—,+?—1=0. 5-'zﬁ+;6;1—1=0 Told  Woboodod  AESyTUETTo,
a,& e

4,

k!

T ) =
Z+0 |.55m| ?—H?W

placos@,bsinf) Sodasn Q| (1 cos e e Wotiad ot O

(]

%{ajﬁz +hlr,rl] -

Options :

[E¥]

a’ b’

a’+

a*+b

a’ f?
4. ¢
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2 b

P(¢,) and Q(¢),) are two points on the ellipse 1:_? + }t—? =1 with eccentricity e. If PSQ
T

8 (8,
1s a focal chord and tan| tEﬂl‘\ _;

-
A

= —(24/2+3). then e and S are

2 42

e &dp0SST™ SOAS ;—,} —;—,} =1 655y80 D P(6)) 56050 Q(6,) 0 Dol DoBosHen.

= (242 +3) wowd, ¢ 00w S e

PSQ Treleg «o0oiw t'm| | {\7‘

Options :

1 G o)

5 &)
1. ®

L, :r’__”,g\]

N3 L8
2. %

L_ ‘ﬂ_gt
3. %

‘ —uT

4.
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=

Let S be the focus of the hyperbola i(_ﬁ —% =1 lying on the positive X— axis and P (35, y, )
be point on the hyperbola. Then SP =

¥ 3 s - o \ g
——— =] ud eSHTCSUAIrAs S BId SIS X—eZod o Trd) bain P(5,y) b

16 9
WSVTSU0De D 2u¥ 2Joliad) WS, o)k SP =

Options :
1
4
1. #®
3
4
2. %
?
e 4
5
4
4, %
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f N 4 2
If P(@)=| x ,ﬁ [, 0< @<= is a point on the hyperbola S A 1, where ¢ is the
¥ ) . 25 9
X, /

]
(]

A . xocio
parameter in its parametric form. then 2x, +9sin” d =

| 0<0< 3 30 E—%—l 3 SAHT S0 DS K0 2 Dolidad,

Q%6 0 @ﬁci‘:- D DOPBON e d DUPLSG wowd, 2x, +9sin’ =

P(O) =

Options :
3
1. ®
10
2. %
20
3. ¢
34
4. %
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If the points A(1. 3. 5). B(2. 4. 6). C(4. 5. k) form a right angled triangle then the number
of possible values of k 1s

A(1, 3, 5), B(2. 4, 6), C(4, 5, k) 3 Dothaden a8 vow §'n Saberd) 8300, k

?.PC,‘.\S ‘:’“38 SV n}osrm

Options :



(B8]

1.v

3
2. %

0
3. %

|
4. %
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Let A=(3.4.0). B=(4.4.4).C=(-6.2.3) and D=(1,1,2). If @ is the acute angle
between the lines AB and CD then cos# =

A=(3.4.0). B=(4.4.4).C=(-6.2.3), D=(1,1,2) %o, AB &bcky CD o

0l i LD St € oS, cosl =

Options :
4
1743
1. %
3
1743
2. ¥
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A plane containing two lines whose direction ratios are (—1,2,1)and (1,3,2) passes

through the point (2,1, ).If this plane also passes through the point (3,-1,4), then k =

(2,1,k) othaad fioowe Fc a8 S0 (—1,2,1) $000%w (1,3,2) 0 & Doargenre SOOI

n,

Boté) Baresh 500 &) 6. & Swan (3,-1,4) Dotad) (how S5 FS, b k =

Options :

5
1.

3
2. %

6
3. %

-3
4.%
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; . 3 : k! . Yi= f
Let A={a‘.r) be an nxn matrix defined by a, = 1 ' ’; . If m=trace of A
' 0, otherwise

and Lin!l % =171 then the value of # 1s

i ) I’k.’ n"‘;‘, |._ -
A=(g)) w30 a,=1" " T ra832e0nGS nxn SE5S SrOE edbSero.
‘ |0, ersda)yio
= . n—m
m= oired8 A O3w¥; g «00ciw lim
P [é3 Es] ]—,}(

=171 ©0ows, et 1 TI0E; e

Options :

18
1.v

23
2. %

35
3. %

42
4. %
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lim x° [wjxl +4f S JE x} =

X—00

Options :



2. %

3.¢
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[3—x if x<-3
Let f(x)=¢ 6 if -3<x<3
[3+x af x> 3
Let abe the number of points of discontinuity of f and £ be the number of points

where [ 1s not differentiable. Then a+ f=

I-x x<-3 eond

f(x)=1 6 -3<x<3 0D ©Hwro. o) DotV S [ DY) TS &
|3+x x>3 =ondd

2olitedL Doy @ «DOCIN [ wlfuioie ¢ 9 2aliade Vodg B wchiveliro. @i

at =

Options :

2. %
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Ifaf(x)+bf L x+1, and di(xlf'(:r)] =2x" +2x+ % then a — b =
X

WX J £

a f(x)+ h_;"[ 1 '|__x- +1 SoBakw %(xl_,‘f'(z’}] =2x% +2x -r%. eoond a—b=
WX

Options :

2
1. %

3
2.

0
3. %

|
4.%
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Fi Iy 9 e A 1
| [ x*+1 ) .
. fix)=sin| msh‘ - ‘ ‘ then f'(1)=
\ \x +2)]
i Y 3y
; [ x°+1 g
f{x}—sm‘ cosh| — ‘ wond f'(1)=
' L x" 42 s
LY L Tk o
Options :
I.f2-.| 'l i LI
—amh| = ’c05| c05h| —
'.\.J',f LR
1.¢
gal @Y f (2)
‘iiﬂhq — |cos coah‘ —
\ J:F 1 \ 3
2. &
i L "|_
—Cos c05h| — : '
| 3))
3. %
2 204 2N
—cosh| — |cos! sinh| —
9 1\3‘_} 1\ 1'\3'.-'__,1
4. %
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If an error of 0.02 sq.cm i1s found in the surface area of a sphere when its radius is
measured as 10 cm. then the approximate error that occurs in the volume of the sphere.
in cubic centimetres. is

A A

af G awdy greed) 10 Re. . P FOAIYPHR TR eDdBdu JFuged
0.02 5. Ro. D0 GaPR) EDTe) K. oS &8 ("o AVEY S DOSTEIS VGG Eo
20 Votd e’

Options :

0.2
1. #®

0.01
2. %

0.3
3. %

0.1
4. v
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. 2 2 2
If @ is the angle between the curves v" =4x and x~ + v~ =5 then ‘tan r‘)| =

yi=dx, ' +17 =5 o3 g

5 s S 0 wows |tand|=

Options :

1. ®



2. %

3
3.

2
4.%
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The local maximum value of the function f(x)=—(x-2 V (x+2) is

F(x)=—(x-2) (x+2)" o8 pocke G POY HOQ v

Options :

0
1. %
128t
;‘5
2. W
125
3. %
a*.3?
:,lf!
4, %
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1+ cos8x , R EN
If dx= flx).cos|g(x))+c.then [ +- =
* tan 2x —cot 2x /(x) (g(x)) 'f|k4,a| g\_4;|
1+cos8x . = i i (1)
dx=f(x).cos(g(x))+c wone® |- |+g|—|=
Itanh‘—mtl‘r LRl RE ) f‘&” glxﬂl;
Options :
2
1. ®
17
8
2. ®
15
8
3. %
33
16
4.
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-3 2 ( 241
Let xz2—,—, 1f |=x+2, 1 Ix) dx=
55 fk 5x13) X 1en J-_;‘{:,} X
% 9 ( \ 2
.r;t—B,: [INVENVIN UV i | = x+2 wond |_f{_x'} dx=
3 ) \Sx+3) ¢ )
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7.1
Sx—slog|ﬂx+3|+c

1. %
7 1
—x——log|5x+3|+¢c
55 BS¥ e
2. %
zx—iiog Sx—2|+¢
5 25
3.¢
5
.1'—110g|5x—2|+f
5 )
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(2x+3))
log -
\ L 3 o 23{.' -'r g

A

A ==

COs

If j e" cosxdy =—(cosx+sinx) and [ _ -
2 T (3-2x)

Sf(x)

£

Ecas{g(x}]+5i11{g{x}}}+c then g(1)=

{2x+3“

/
cos| log
e ERr]

2 {?I : i J
_[e‘ cosrd‘r:g[cosx+smx} Bhiele iV J- dx =

(3-2x)’

f(x)

= E_cc-s{g(x}]+siu{g{.1‘}}}+c wond g(1)=

Options :



log /(2)

log /(1)
3.¢
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l-l_w'él — x> dx=

~|

1.

2
2. %

1

3
3. %

1

2
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Y
. : B 1
If [x] denotes the greatest integer function of x and j [2x—3] dx=k . then |k +—|=
5, 2
¥%

[x] ©30 x ¥, HOQ KPTPeE HIOIPR) UraKed Hock | [2r—3] dr=k wowd

-

|
‘k_ B
2
Options :
-
1. ®
8
2. #
10
3. ¢
12
4, %
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The differential equation corresponding to the family of curves given by ax” + by’ =1

where @ and b are arbitrary constants 1s

a, b ©o dirdyR s SuorHod ax’+by’ =1 3 BS320GS S8 50woerdS @abiEelT Gol
95805 D0ESLEo

Options :



X—==
dx~  dx
1. %
d’ ¥ (dy ) dy
3 —y—=10
e a® | drj| ¥ dx
2.¢
2 £ e NS 3
’d‘r~:-v'd—} xm =1)
“dx T \dx) dx
3. %
dl i / G;l .‘-.3 t,?r
xy : —1| ! ‘ V & =1
dx” 0 dx
4. %
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d {
Y + xsin| d—
| dx

, : : d
: : = 3| y
For the differential equation 72 R )|

— 3l ; + xsin & 958003 manEdErDs

v _ . \T
‘ 3] =

Options :

Order 1s 2 and degree 1s 3

Order is 3 and degree is 3

BT TNt 3 S5 3



Order 1s 3 and degree 1s 2

wBeiorts0 3, G 2

3. %
Order 1s 2 and degree is not defined
DOrEe 2, SIS ASLIBe
4.
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: ; . : y _p¥x-qy-1 ;
The general solution of the differential equation — == - 1s
dx - xy=2x+y-=2

dy xy+x—-2y-2

905 95508 Menidtic g Pl P
dx xy-2x+y-2 : o ’

Options :
F x+1
x+y+3log =§
y+1
1. %
y+1
x+y+3logl——|=c
x+1
2. %
i x+1
x—y+3log =i
o |
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Which of the following interaction is responsible for beta decay?

2ddor E0h s28eaadocs @Sgn’)

Iy
(%]

Options :
Gravitational
(odoee 350¢q
1. ®
Weak
LS IN

2.¥

g 2 S0 PES" DB



Electromagnetic

D2 50K 089

C
3. %
Strong
20203003
4. %
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In a RC circuit. where R is resistance and C is capacitance which of the following has
the dimension of time.

R 08 &adn odalin C Sdodgain HONS sl RC SO0NEnG & Sob TP G dugfoen

OO oofoDrie)

Options :

R/C

1. %
C/R

2. &
RC

3. %
RC

4. ¢
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A particle starts from rest. Its acceleration (a) versus time (f) is as shown in the figure.
The maximum speed of the particle will be

a(m/s?)

P

104

» 1 (s
15 (s)
Options :
150 m/s
1. %
75 m/'s
2.
375 m/s
3. %
45 m/s
4. %
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Assertion(A) : The zero velocity of a particle at any mstant always implies zero
acceleration at that instant.

Reason(R) : A body is momentarily at rest when reverses its direction of motion.

DBYSGdw (A) : a8 o wTR) i, o) S0NT I PO ey S50
93 Ee3odneS’ @OCHECT0I.

0o (R) D 2ud S0 WP USRS R OF Job BONSDE K88 T HBS
INROATTAR

The correct option among the following is

&3 5o BOyTOS JOANIG

Options :

(A) 1s true. (R) is true and (R)is the correct explanation for (A)

(A) S350, (R) D550 90050 (A) § (R) 0GRS D563

1. %
(A) 1s true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) Dgaiw, (R) 0&ga50 0w (A) § (R) 00G0S Dades 5260
2. %
(A) 1s true but (R) 1s false
(A) ABgzai0, =2 (R) @0Sgadw
3. %
(A) 1s false but (R) 1s true
(A) ©08gs0, = (R) ddgadn
4.¢
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A river has a steady speed of ‘v'. A man swims upstream at a distance of ‘d’ and swims
back to the starting point in total time ‘t". The man can swim at a speed of ‘2v’ m still
water. If the time taken by the man in still water 1s “tp’ to complete the same length of

| r.
swim, then —1is

Iy

ITA) cﬁmé& ROEE oSG V. 2l DA ‘@aﬁéj“ &I o ‘d’ Srdasnes w*"‘.ﬁog RN
5" DPIeinnisy Saodtr Ao ‘17 0D B80T, & DAY @%L:}E_J S 2v°

SGes” SaddriuutHaEr. Do DT &3 DD o BFGaiualy S¢S SH0M eldoReD
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Iy
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3
4
3. %
4
.
4.9

Question Number : 86 Question Id : 105615406 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A projectile is given an initial velocity of (3i +4_;’)m /s where, i 1s along the ground

e : il o B e i o ;
and j is along the vertical. Assuming g = 10 m/s -, if the equation of its trajectory can

be written as %[ Px+ j}’_x':] . then the value of y is

i do o206, ; DY) Jo2b IR W8 VEDTHIIE Had ek 5 Daiie50 (31‘+ 4j)m/s.

: 1 X _
g = 10 m/s? DE D50 OO HEDSTY DAESEID E[ﬂx+ yx’ ] wond y aws

Options :

-8
1. ®

=5
2.9

-6
3. %

=12
4. %
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.|

0

coefficient of static friction (g, ) 1s 0.5. then what 1s the maximum height above the

‘ -

A block 1s placed on a parabolic shape ramp given by equation y=-—. If the

I~

ground at which the block can be placed without slipping?

5

‘Y s o 5 - -1
V= QeESHENeT IPDoviinG WUPSLON P SULND B dieaedTd. e

s

Qodes (e (1) 0.5 ©owd S EPORE” Golibrds Su ol oo (109 I

e GorO?

Options :

25m
1. %

1.25m
2.9

0.5m
3. %

0.25m
4. %
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A small object slides down with initial velocity equal to zero from the top of a smooth

hill of height H. The other end of the hill 1s horizontal and 1s at height : as shown 1n

the figure. The horizontal distance covered by the object from the end of the hill to the
ground 1s

H 0 50 8 505) & S0 ool 0w 5 Oaitioes” D5y KD sreiod. §ots T,
S 288 % DL EBEIST ST HSNE' SFDS DorP ol & S0P Fols IS

oG S DY £B3eaireBd drdan

H
1 [
2 Y
= a
>
Options :
2H
1. ®
H
2.9
H
2
3. %
3H
2
4. %
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A moving particle collides with a stationary particle of mass — times the mass of
n

moving particle. the fraction of its kinetic energy transferred to the stationary particle
18

1
Sl Smadn DTE Sein AW @ol, SL0N) Qadgor3d — wedw (o
n
Soaoined”  GES) 0. Jhendd) Sme) (ISR oo D)o HLIBTD Seaaosso

Had 53&&:6&:-.

Options :
4n’
e
(1+ 11)_
1. %
4n
(I +11)'
2. ¥
4n
14+n°
3. %
4n?
4. %
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A solid cylinder of mass m and radius R rolls down an inclined plane of height 30 m
without slipping. The speed of its centre of mass when the c¢ylinder reaches the bottom
is

[use g = 10 nv/s?]

30 m oJgiie a¥ Tren WD m Kages OO R argrdainiie (e Lrman srdioe
G008y . S Sy DODBNGS LD Gl BS50°8 Seldi) S&

[g=10 m/s’]

Options :

10 m/s
1. ®

20 m/s
2.

30 m/s
3. %

40 m's
4. %
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A simple pendulum consists of a small sphere of mass ‘m” suspended by a thread of
length “/°. The sphere carries a positive charge q. The pendulum is allowed to do small
oscillations in a uniform electric field E with direction vertically upwards. The time
period of oscillation 1s

‘m’ dasord o D) Ve T P o orddnd Jerdddd eiugosdn,
(FUS0SB ST E De0gTEIIaN ‘q FOE. QDT P8 6cS) E0S DS S0 Jotdd
& TOZIN Dfy) FOIENOW TPAWed. O EOT G TS0

Options :



27 |—
g
1. ®
27 ﬂ
qE
2. &
3. ¢
4. %
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A rocket fired vertically with a speed of 4 knv/s from the earth’s surface. How far from
the earth does the rocket go before returning to the earth?
(Take radius of earth =6.4 x 10%m and g = 10 m/s?)

alr 60000 ok UG ALHIP T80 4 km/s SGed” DONT G, aPdD ok ot &rdo
&3 O°5& 35000 (208 BSOS S0l aldelid)
(& TPgrQaion = 6.4 x 10 m 0050 g =10 m/s? P HO¢eioSol)

Options :

500.24 km
1. %

914.28 km
2.

1230.24 km

3. %



1750.28 km
4.%
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A swimming pool has a depth of 22 m and area 700 m”. Calculate fractional change

v . . -
of water at the bottom of the swimmuing pool. Given that the bulk modulus of water
\r

is 2.2 X 10° Nm—2, g = 10 m/s and density of water 1000 kg/m>.

&ath S Aoy S 22 m HO0N FPZ 700 m?. eh Tk BEND atiees’ SPY

Av
l‘.?
PoSD 1000 kg/m? e S8 oG,

R &8 06, A oSS Mo 2.2 X 10° Nm 2 g = 10 m/s? sdakn &¢

Options :

2.2 x 10~*
1. &

0.7 x 10~*
2. ®

0.31 x 10~
3. %

16"
4.«

Question Number : 94 Question Id : 105615414 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A hollow spherical body of outer and inner radii of 4 cm and 2 cm respectively floats
half submerged in a liquid of density 2.0 g/em’. The density of the material of the sphere
1s

200 Ol SO argrgren SGURTP 4 cm O 2 cm o (g (YR D
2.0 glem’ Podeh ti0 Gdang’ i G SO0PEEd. & (e Hurgd Podt

Options :

1.02 g/em’
1. %

1.14 g/cm’
2.

1.18 g/em’
3. %

1.24 g/em’
4. %
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What is the terminal velocity of a rain drop of radius 0.02 mm ?

[Note that the coefficient of viscosity of air is 1.8 x 107 N/m’, density of water is
1000 Kg/m’. Use g = 10m/s® and density of air can be neglected in comparison with
density of water]

0.02 mm Pgrgsin (10 S0 Wotied) Wl J1:300S?

[PO caody, &) G domsain 1.8 x 107 N/m?, 9€3 oty 1000 Kg/m’.

g = 10m/s? <6050 H¢3 Polithed” FON PO Pofdth GRELONGNT HO(iEoSot]

Options :

4.9 cm/s



0.8 cm/s

2. &

0.49 cm/'s
3. %

49 cm/s
4. %
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A hole of diameter 5 cm is drilled in a metal sheet at 30 “C. The linear expansion of

metal is 2x107° K~'. The diameter of the hole when the temperature is raised to 230 C,
1s equal to

30 C &¢@ af S D0¥S 5 cm Pl (0 So@aond WA, Cary) Sdoh

g8 a0 2x107 K7 &S 230 °C 5 oS & S0l arga,

Options :

5.01 cm
1. %

5.02 cm
2.9

5.03 cm
3. %

504 cm
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A metal cube absorbs 2100.0 J of heat when its temperature is raised by 2 °C. If the
specific heat of the metal is 900 J kg~! K—1. then the mass of the cube is

nE - o,

2 °C &S DSt SO SR Doaiw 2100.0 T &) SRK0e. SR DIFQe0
D &

900 JTkg! K~! ewowd®, s

£

_ 501’%

Options :

1.116 kg

[a—y
%)
[
0

i L=}
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The net work done by an ideal gas going through the cycle as shown in the P — V
diagram below 1s

P — V D&ane" Sriad Q&erP auf 3883 Poinad O Sokeod A58 DR

P 4
AP, fos s C
e
| Y ‘B
vV, N W
Options :
0
1. ®
PV,
2.¢
3
_P1V|
2
3. %
1
_plvl
4, ® -
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A diatomic gas (CP= % R) does 200 J of work when it is expanded isobarically. The

heat given to the gas in the process is

DEOHNS" TPOSNDHIEL 005206 Saain

Options :

600 7]
1. %

8007
2. %

900 J
3. ®

700 J
4. v
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Statement (I) : Gas thermometers are less sensitive than liquid thermometers.

Statement (II) : The ratio of universal gas constant and avagadro’s number 1s called
Boltzman’s constant.

Statement (III) : The density of a given mass of a gas at constant pressure is inversely
proportional to its absolute temperature.

PSPPI (I) : G Purgnofed” FOR arclin HTPLEE B8y ) Sehgaind
06 eolorow.
DSBS (IT) : Ddgarroin PUretan OOKN YSTE Neagw YR 2F Qboﬁﬂé
QT8 Ol.

VBTCIS0 (III) = DG &S50 98 Y8t L5073 (10 705N FoldS &l (IS0

iy

DT STPSaP 0T Goltiod.

£

Which of the following is correct?
806> 3¢5 2)6 ez
Options :
Statements L. II. IIT are true

PSrGSen LI T 000303

1. %
Statements L. I are true. but statement III is false
@é‘aﬁ*ﬁdﬁﬁw L II 380303, 0 @éé‘ﬁﬂdﬁrﬁ I HOCHIL =&
2. %

Statements IT. ITT are true. but statement I 1s false

@@ﬁncﬁéw I1. IIT QOCHIR, ° w@:ﬁniﬁcﬁ I 000G e
3.¢



Statements 1. IT. T1T are false

WG I IT, IIT KOG S°ad)

'

4. %
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The distance between two successive minima of a transverse wave 1s 2.7 m. Five crests
of the wave pass a given point along the direction of travel every 15.0 s. The speed of
the wave 1s

5§ BBoliaiy GV, Dot WD KAPSVL By ErSI® 2.7 m. POIPm O 9
15.0 s 065" ¢ Jyolisinen 0D sl 2otiedd TENTPoN. & Bl S&

Options :

0.9 m/s
1.+

1.2 m/s
2. &

0.5 m's
3. %

2.4 my's
4. %
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A convex lens focusses an object 20 cm from it on a screen placed 5 cm away from it.

S T . .
A glass plate (refractive index = ;) of thickness 1.4 cm is inserted between the lens

and the screen. What is the distance of the object from the lens, so that its image is again
focused on the screen?

20 cm GrdengG GodenGd wE Sadad Hooared LS 5 cm ErduP Godd &G

DBDeRoseniod. 1.4 cm SoSahd HON SESSS Hoeasain = % o 28 TP HOEDH BEH
00K FLER0SE $BgS SSOYTE. BB BEP VAT, VEYERDE ELEISKH
S0P S5 SotbSORS EPES wots?

—

Options :

22.5cm
1. ®

30.7 em
2.9

25.0 cm
3. %

284 cm
4. %
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The angular width of a fringe in a double slit experiment is found to be 0.2" on a screen
1 m away. The wavelength of light used 1s 600 nm. The change in angular width of the
fridge if the entire measurement system is immersed in water 1s

[Use refractive index of water as 4/3]

ol OO DAIFPHI0 Jot 1 m Grded’ &) @5 D& AWy, §Eiok Jienyni 0.2° P
10Qorly. o Gy Bolindzain 600 nm. JGo g5 S NS DE §TEiod
B el SV EVIN VeV

[0¢3 o5823a503 coea¥aion 4/3]

Options :

0.05°
1. ¢

0.10
2. ®

0.15
3. %

0.20°
4, %
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A large metal plate has a surface charge density of 8.85x10° C/m®. An electron having

initial kinetic energy of 8x10 '"J is moving towards the center of the plate. If the
electron stops just betore reaching the plate then the initial distance between the electron
and the plate is

| Take &,=8.85 x 107 C*/Nm” |

2% SR D¥ 8.85x107° C/m* &00BL dgmrald Foltdh SONAINS) &, F'O (1d¥s
8x107"J 0 8 QOFI0 DOE ol Ju) VOTPBNS) &, DOEDH SHHS FEIHE
St WP SOFS, eSS DOF MO iy iy Grdan

(Y
&, =8.85 x 1072 C*/Nm?
I J

Options :

0.5 mun
1.9

0.1 mun
2. %

0.2 cm
3. %

0.02 cm
4. %
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The equivalent capacitance between points A and B is

A 558050 B Botiape 5aedg ¢ S00g Koo

C 2C
| | |
A immmml
| 2
B
Options :
5/6 C
1.+
11/5 C
2. %
6C
3. &
5/11 C
4, %
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A cylindrical metallic wire 1s stretched to increase its length in such a way that the
metallic wire changes its resistance by 6%. The percentage increase in its length 1s

QrrTde) Swrey S PHOD TP AFHENG 6% Sy SN TR T
2o, TP FPaDES D wSAEL F2EHe500
Options :



4%

2. %

3%
3.¢

12 %
4.%
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Find the current in the three resistors as shown in the following figure?

EINEG" WPaeS sl AGGNUE R VS RTPITNOD Sy ok?

2V | 2V
L

Options :

: .4V 2V
!11(:',!2:?,!3:?

5=, 8,=10,5:=0
2.9



.2V 4V
R

3. %
2V . 2V
31:0.1"2:?.?3:?

4. %
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A horizontal wire carries 160 A current below which another wire of linear density
10 g /m carrying a current is kept at 4 cm distance. If the wire is kept below hangs in air.
what is the current in this wire when the direction of current in both the wires is same?

(2=10m/s” and My =41 1{]_?)

2§ £B38VATeBS SO 160 A DD DSdrued. 10 g /m TPHoh PoldStin dhFE Hlugd
Ve o FE St PR §odd 4 cm GrdanG” OGS FVrEOTe). Dol ST
DS D HFL B8 WIS S0 SO Dogd DTPITRY Dea oJots?

(g =10 m/s” s 4y =47 x 107"

Options :

125 A
1.v

140 A
2. %

110 A
3. %

100 A
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A long solenoid has 70 turns/cm and carries current I. An electron moves within the
solenoid 1n a circle of radius 2.5 cm perpendicular to the solenoid axis. If the speed of
the electron is 4.4 x 10° m/s then the current I in the solenoid is

(Take po=4m » 1077 ST unit. mass of electron = 9 x 107! kg. charge of electron =

1.6 10270)

D03 HAEEss0 I K0 SOAAKIY TS POTONES'D (6 Vowg T0/cm.  FOTONE
DESNSE Lo2dolP DUFID 2.5 em PgPrgan o & e POTronE $enddd) .
28 Y Oy gy $6 4.4 x 10° m/s ©ond POTONES D DS D dend 1
(po = 4m x 1077 SI unit, DOPID GSg0°8 = 9 x 107! kg, DUPI0 Aogaraddsn =
1.6 %1077 ()

Options :

08.5 mA
1. ®

112.5 mA
2.9

125 mA
3. %

175.0 mA
4. %
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Assertion (A) : The magnetic field lines are continuous and form closed loops.
Reason (R) : Magnetic monopole does not exist.
Q3)ES 0 (A) | WOLTBES OO0 BDD D) W OGN Keady®

SOCITFOIC Y EIPON.
s&go(R) ;90508 ¥ &350 olstd.

The correct option among the following is
&2 £ol OYTOS HOAWIH
Options :

(A) 1s true. (R) 1s true and (R) 1s the correct explanation for (A)

(A) D350, (R) 09550 500050 (A) § (R) 0O D58

1.
(A) is true. (R) 1s true but (R) 1s not the correct explanation for (A)
(A) DBgain. (R) Dhgain 90w (A) § (R) 0000 Daides 5760
2. %
(A) 1s true but (R) 1s false
(A) DBgw, = (R) wudgedn
3. ®
(A) 1s false but (R) 1s true
(A) Sz, 52 (R) 0gen
4. %

Question Number : 111 Question Id : 105615431 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



A flat circular coil has 100 turns of wire of radius 10 cm. A uniform magnetic field
exists in a direction perpendicular to the plane of the coil and it grows at a rate of
0.1 T/sec. The induced emf in the coil is:

ST BHDLED Hagy Doy 100 OO 5P 10 em. So&) SOOI Losdol™

DEOS WOHIY 0t TG S, & EGR) DS 0.1 T/s Bewes” DHMd. SHOHS'D
20 @633,3@5 POE 208e50

Options :

'V
1. %

107 V
2. %

— ¥

10
3.¢

2V
4. %

Question Number : 112 Question Id : 105615432 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A 2pF capacitor is charged to 50 V by a battery. The battery is removed after capacitor
is fully charged. At time 7= 0. a 10 mH coil is connected in series with the capacitor.
The maximum rate at which the current changes in the circuit is

ergOLOaIrAed 2PF  Eab3O0 50V 0¥ dgirdiodTedn. 850300 Qrore
DEVEPIFENPDD g0 eSThord. = 0 &GS, 10 mH Stichdad 3 308
SO, SLOLNNG DS DaParaY) SIedL) (905 Téw

Options :



2000 Afs

1. *

5000 Als
2.9

2500 Als
3. %

10000 A/s
4. %
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An electromagnetic wave has its electric and magnetic fields given by
E(t)=Eu sin(kx—at)
B(r) = Bu sin (kx - wt)

e A s s

If the direction of En &Bnare in the direction of i+ jand i— jrespectively, the unit
vector that gives the direction of propagation of the wave is

B DT ot SotiotS’ DS SO BOHT SELELN SEP

E(¢)=En sin(kx—t)
E(r)zﬁm sin (kx — cot)
En 90050 Bno 0¥ SE0F i+ 00k i- ) eond Sl aghs 63D
0 06

Options :

i
1L



= >

2. %

3. %

4. %
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The value of Plank’s constant. if the slope of the graph of stopping potential vs
frequency of incident light is 4 x 107" Vs is

(given charge of an electron = 1.6 x 10719 C)

DS BETE Y0 SO VOIS PIHYIZS0SE HOS SEIw cMgy arew 4 x 1070 Vs
BOWS Fro§ YRS DL

(egrd cind;, dogwrd¥an = 1.6 x 107 C P Snsel)

Options :

6.0 x 1073 Js
1. ®

6.2 x 103 Js
2. ®

6.4 %104 Js
3.

6.6 x 1074 Js
4. %
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A beam of white light is incident normally on a plane surface absorbing 70 % of the
light and reflecting the rest. If the incident beam carries 10 W of power. the force
exerted by it on the surface is

70 % 02008 WHOS AR EJCF"SiL;}cSo wolow w0 o) @%}@ 52063 00)0l3a300al
BEVAP DBID Ve@odTE. DSBS Yol 10 W rsidggedn 0050, N

YOIFOIodzate 20€a300

"
L

e
Options :

33x10°%N
1. %

433x10° N
2.9

23x10°%N
3. %

3.53x10° N

4. %
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If the series limit frequency of Balmer series 1s v, . then the series limit frequency of
the Brackett series is
g0°o00 358 Ay, @8 Fdikydgein vy 0w @ 358 Gl @SOE raaygein

L -

Options :



Vi

9
2. %
Vi
4
3.9
24
4
4. %
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Consider a nucleus 5 x . It's approximate density is
) =15 5
(Take 1 amu=1.6 x10>"kg. Ro=1.2x 10" m.)

X Sol¥Rn TI0Ey, Foldty H0aSrEaT
(1 amu=1.6 (i kg. Ro=12x RS 1m.)
Options :

1.2 x 10" kg/m’

1. ®

8.5 x 10" kg/m’
2. %

3.3 x 10 kg/m’
3. %

2.2 x 10" kg/m’
4. &
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Correct Marks : 1 Wrong Marks : 0

The resistivity of a material is found to be 10° Q —m. Then the material would be
28 DG D3 AGGI 10 Q—m. ©ond & HTedsin

Options :

Only insulator

EATIATINUEN VLS I
1. ¢
Only metal
SEOINWENVS Y
2. %
Only semiconductor
ET T EDD SO
3. %
Only Superconductor
BT T Sl SIS
4. %

Question Number : 119 Question Id : 105615439 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



The behaviour of the circuit 1s like gate

O3 a8 T 3 8e300n580 RadTPeSadnd

Options :

OR
1. ¢

NOR
2. %

NAND
3. %

AND
4, %
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A message signal of frequency 15 kHz 1s used to modulate a carrier of frequency v_. It
the side bands produced are 1515 kHz and 1485 kHz. then v_i1s

v, FSEYgn (T P Sdetialnd SrdgDéd DoDwEeRs 15 kHz ardinyadgaion (o Dotdd
DoSTPR) TrGRrdD. ey s 08 wéen 1515 kHz odokn 1485 kHz Fupmrgen
(o ®oNd, v, DD

Options :



2.0 MHz

1. %

1.5 MHz
2.

2.5 MHz
3. %

3.0 MHz
4.%

Section Id :

Section Number :

Section type :

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and Clear

Response :

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Chemistry

1056159

3

Online
Mandatory
40

40

40

Yes

0

1
1056159
Yes
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The total number of spectral lines observed when electron returns from the 6% shell

-}ﬂd

until the 2™ shell in hydrogen atom 1s

='|

=y S
o e 0
[

e

oo Nodlg
Options :

I
1.

DOSPER0PHS” DUFIS U ¥

e o B v, 5o W A & = ,
ool Toled 555@55 Epjfduﬂrﬁ@m NG égﬁf&



10

2. %

8
3. %

2
4, %
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The orbital angular momentum of an electron in d orbital is equal to

d — e0)trdaD ol)e_.}gvﬁri oy, es0)erS §elol Bdgatio

Options :

0

243 h

6 h

\/gﬁ
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The correct order of decreasing acidic nature of oxides

Sold @Ea&@ 3ol 5&3@&.&5&3 €80 Saloas
Pt ap (] o

Options :



Li,0>BeO>=C0,>B,0;>N,0,

1. %

C0,>N,0,>B,0,>Li,0>Be0
2. % ) o o

CO,>Be0>Li,0>B,0,>N,0,
3. %

N,O, >C0,>B,0, >BeO >Li,0
4.9
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The change in enthalpy [AH] in kT mol ' for the reaction is
Mg +2F > MgF,
Given: EA of F =328 kJ mol™, IE, of Mg =737 kJ mol™, IE, of Mg =1451 kJ mol™

8ot B85S" oDy S8y [AH] 3. &6, 3rd! 0o 893S E@eTen FOS JUFID
DDDES 328 &. TS, IS, Mg Sndied @0hdssn 3§ = 737 §. &S . ars!

Dotssd eohdEse ¥§ = 1451 8. &S, ard—]

Mg +2F > MgF,

Options :

3064
1. ®

376
2. %

1860
3. %

1532
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Dipole — induced dipole interactions are present between which of the following pairs?

&5 800 &) 2SS BIES — DORE BIBYS OS5I WO SO Sabromn.
Options :

H>0O and CoHsOH

L% H>0 00cin C2HsOH

Cl; and CCl4

Cl> 506050 CCly

2. &
NHj3 and H»
NHs 08ain He
3.9
SiF4 and BF3
SiF4 o605 BF;
4. %
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According to the Lewis formula of Os. the correct option 1s

03 5 wrowrn rEn U@ R50 DO
Options :
¢ bonds mbonds  lone pairs of electrons

O WolPl WO a0l 2685 UL

. 2 1 3
l.



a bonds mbonds  lone pairs of electrons

02PN MWW 20000 2 2JOUTIDL

2 1 4
2. %
o bonds mbonds  lone pairs of electrons
Coolre)  WWellFd 2,080 2D JUFIDL
1 2 4
3. %
a bonds mbonds  lone pairs of electrons
G BelPLy M2l 5,00 2 JUFIRL
2 1 6
4. ¢
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A gaseous muxture of 2 moles of A. 3 moles of B. 5 moles of C and 10 moles of D
contained mn a vessel. Assuming that gases are ideal and partial pressure of C 1s 1.5 atm.
the total pressure is

2wl PGS 2 areo A, 3 ardo B. 5 arde C ook 10 areo D ok dudabadn Sod.

&

SED FOLHOVY O GBG FOLIPLP FPAeISVE C cIwsy FPEE HES0
1.5 €967 0050500 @OWS DFH0s0 Cho¥y Sote HisSw

Options :

15 atm

- 15 @d}v&ﬁjgofoﬁw

10 atim

. 10 eéry 2 yohbew



3. %

6 atm

6 @9é 0 \obew
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The rate constant of a reaction is increased 4 times after addition of catalyst to the

reaction mixture at the same temperature of 27 °C. The change in the activation energy
of this reaction is

(Take h{ﬂ =-1.386.R =8.314)

27 °C 5 GB35 DKo 555 50 JTPo¥esd TPl D& DOASS, &Beeed 33 80

(h{i] =-1.386, R = 8.314 (P 5:s'G)

Options :

—135 kJ/mol

—15 8. 7S /ard
1. %

—1.5 kJ/mol

Cin

—1.58 TS [arS
2. %

—3.45 kJ/mol

458, TS/arS

L)

3.¢
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A cube of edge length 1 cm is divided into smaller cubes of uniform size of length
1 nm. Assuming that no voids are present. the ratio of total surface area of all the cubes
of 1 nm edge length to the surface area of the mitial cube 1s

1 0.0 @oudd Fad (i 0TPR) 1 TeId) Féad) O Dad) TP DaeoaT S

Sogren OS5 ePQedadaYdsd 1 TPed eI 9ol SPad) (i V), WTU &V0B0 JFUgSw

LCGe

-:E"a:lg

Options :

107
1. %

107
2. ¢

109
3. ®

10°
4. %
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Calculate the number of moles of NaOH required to completely neutralise 100 g of
118 % oleum.

100 r.o 118 % &Oahodd YrOP SLOE0eSERS FlLdS NaOH aree Noawgdd

Gé&oﬁod.

Options :

2.4
1.v

1.2
2. %

4.8
3. %

8.4
4. %

Question Number : 131 Question Id : 105615451 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A certain mass of a gas was brought from state A to B by following three different
paths. namely 1. 2 and 3. respectively. Which of the following relations is correct for
the work done?

n"J@EfJ éégﬁ”% (e aroinaded A 3,:}'?3 Dot B 038 ol &Wﬁﬁbw 1, 2,3 o5 @ﬁ&nﬁnﬁé
weded W8 No2efoDd {ﬁ&'@l’é POTTATIATNSY)
A~
T
P




Options :

Wi =Wy=W;

1. ®

Wi1<W2<Ws3
2. ¢

W1>W2>Ws
3. %

Wi =W;< W
4, %
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For the formation of ammonia gas from its constituent elements. the Kp/ Kc 1s

W

SPUSFU el BOPLICIT POl Sairdodidies Kp/ Ko deodd

Options :

RT
1. %
1
(RT)*
2.¢
1
T
3. %
1
4. %
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Match the following.

List-1 List - 1T
A) Agq. solution of AICl3 I) Basic
B) Agq. solution of CH3COONa II) Acidic
C) Agq. solution of KC1 IIT) Highly conductive
D) AlLO3 IV) Strongly basic

- V) Amphoteric

8o 3D BSOS S06

wdom - I G - II
A) AlCI; eo graseso I) TS50
B) CH3COONa & @@t O) hBge
C) KCl ze ot II) 080y i 5es S0d
D) AbOs; IV)  eowad 0w

V) Bghgarscke

The correct match 1s

DO 23

Options :

A B C D

I I 11 Vv
1.v

A B C D
5 % I II1 v A%

A B C D

III II I A%
3. %

A B C D

IV Vv II I
4, %
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The most effective water softening method 1s
S0l PEleS ahyCh BWlP 070y LEPSSeBT0nS DHE
Options :

Lime — soda process

OS5 — ¥ HIOH

1. %
Permutit process
90IIPR QUAD SR
2. % =
Ion — exchange process
oG 03w Ak
3.¢ -
Boiling followed by filtration
08N BTG S&Iroin 505
4. %
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Potassium superoxide on hydrolysis gives

FérR0%0 ArOEUSYE B0 DFEISN DoAIVE 08 ) ESD

Options :

K" +OH+0,

K"+K,0+0,+0H
2. %



K" +H,0, +0,+0H
3.

Kt +H,0, +OH
4, %
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When aluminium chloride is dissolved in water. it gives
s 5 [ LT, ¥ e
WUrIAICWe £TE AL EOASYLE 8 )R
Options :

[Al(OH)s]*~ + 3 HCI

1. %
AlO3+ 6 HCI
2. %
[AI(H20)6]*™ + 3 CI”
3. ¢
AP 301
4. %
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Among the following given substances. the one with zero A, H" is

S0l Drgros” AfH® dradgain Sod

Options :
Diamond

o
Gooddole
a_



Graphite

TS0
2.
Fullerene
) Slel
3. % -
Bituminous coal
200N a5
4.% '
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Identify the chiral molecule among the following.
$o8 aPEIS” 30°S e (D000t
Options :

Isopropyl alcohol

:Jﬁsgfggf; @y IS

1. %
2—Pentanol

5o 2— Dol S
1-Bromo—3-butene
1—%‘}‘ N —3—2¢u‘°§é55

3. %

Isobutyl alcohol

L w DFurgS oS
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The most suitable solvent for Wurtz reaction i1s
aj_}“% cﬁc‘.’:ﬁfff 5805 gﬂéﬁ%

Options :

Dry acetonitrile

PG VT IE9S
1. ®
Dry dichloromethane
Fh &5 TBR
2. % =
Dry ethanol
Fo HHESS
3. ®
Dry ether
F& S350
4. ¢
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Propyne was subjected to a reaction with HgSO4 / dil. H2SO4, which resulted in a
product P. The product P was heated with Ba(OH); to give the product Q. The molecular
tormula of the product Q is

&Sy ‘P’ b Ba(OH) & GG Q & yady diw @fﬁgjﬁnﬁﬁ, Q G
oy °

Options :



C3HgO

1. %

C3Hz:OH
2. %

CsH1202
3. %

CeH100
4.
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The correct option for axial distances and axial angles for hexagonal crystal system 1s

05780 D88 S5 Iy, A Sroren $HBaK Lok STPUKL Netdedod HOGVE

Options :

azb#c,a#f#y=90

1.
g=bFfc,a=F8=y=90
2. %
a=hFe == _3y=120
3.¢
azbLo,a=0=r=9
4. %
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Which of the following 1s/are “not correct™ for CH;OH + CH,;COOH mixture solution?

a) AH_. <0

b) Does not obey Raoult’s law
c) AH ..>0

d) An example of 1deal solution

CH;0H + CH;COOH  g@paies 0dainainnnid Doteled 0OGLNQ &0 J&?
a) AH. .. <0

b) T8 D0%a50 QeI

)  AH_ >0

d) BAG) TSRS & O
Options :
d only
d SrSad
1. %
a. c only
a, ¢ S
2. %
a.b. c only
a. b. ¢ JSorgdad
3.¢ =
c. d only
c. d e
4. % m
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Henry's law is valid for

A) Ammonia gas dissolution in water

B) O2 gas dissolution in unsaturated blood
C) O2 dissolution in water

D) CO» dissolution in water

800 T3S BAS D OO SQKVB?
A) RS 0P O0LT TOked) ORI

B) BReB Y G¥otS &8 2D TPOieg) 0NSaY

) Dedes E‘:ié;]%n% olaTn eyl
D) DeE3eS 5‘063\‘,5 @@anﬁ el INES)Tr e
Options :
AandB
A 0ooin B
1. ®
BandC
B doiw C
2. %
Cand D
C o0bad5n D
3. ¢
Band D
B dciw D
4, %
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On passing a current of 1.2 A through a solution of salt of copper for 40 min. 0.96 g of
copper was deposited. The equivalent weight of copper in g 1s

5700 Grdtso (oi® 1.2 A g 40 QNP Dedddapia 0.96 [P, © 20 AL QDoNSA.

b cingy Suerged ardd . o

Options :

21.2
1. ®

3ETS
2.¢

63.5
3. %

15.9
4. %
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Half life periods for a reaction at initial concentrations of 0.1 M and 0.01 M are 5 and
50 minutes, respectively. The order of reaction is

W83 PY'S foiradru 7O réden 0.1 M &ooin 0.01 M @90waie @9groineden
SER0TP 5 aOA 50 ARV BONGS & &g Edrralan

Options :
3
1. %
2
2.¢
|

3. %
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Catalysts in the following reactions are

& §ob BBV’ BDATFD &8 988aioen

I) CH,COOCH, (/)+H,0(/) - CH,COOH (aq )+ CH,0H (/)
II)  2S0,(g)—>2S0;(g)
II)  2S0,(g) +0,(g) »280,(g)
IV) N,(g)+3H,(g) »2NH,(g)
Options :

HCI1 (7). Pt (s). NO (g) and Fe (s)

HCI (1), Pt (s), NO (g) 06050 Fe (s)

1. ¢
HCI (/). NO (g). Pt (s) and Fe (s)

- HCI (7), NO (g). Pt (s) «20a5w Fe (s)
HC1 (7). Ni (s). NO (g) and Fe (s)

_ HCI (7). Ni (s). NO (g) odcsw Fe(s)
HC1 (7). Pt (s), N,O (g) and Fe (s)

L x HCI (7). Pt (s). N,O (g) ocsw Fe (s)
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The total number of paramagnetic gaseous products formed in all the following
reactions [A + B + C]

& 860 SB500) o836 [A + B + C] a3 DT°A5Py 08 POk So%esdgeine Sntse Kows

(A) NH4NOs ﬁ—) Products
SO TR
(B) 3NaNO:;+3H;SQ0y @ —— Products
SO TP
673K
(C) Pb(NO3) ——————  Products
&8 \T?) W
Options :
0
1. %
1
2. %
2
3. %
3
4.

Question Number : 148 Question Id : 105615468 Question Type : MCQ Option Shuffling : Yes Display Question
Number : Yes Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The main products P and Q of the following unbalanced disproportionation reaction are

8ot E00ges0 ARG BSDFY $ES 283G P 00K Q &B)T7)en D?

SeCl, »P+Q

Options :



1. %
P Q
SeCl, SeCl,
2. % B
P Q
SeCl, Se
3.9
P Q
SeCl, Se,
4. %
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The correct order of acidity of HC10. HBrO and HIO 1s
HCIO. HBrO 5000 HIO © ooy, 00005 &g Sabval
Options :

HIO = HBrO = HCI1O

] %

HBrO = HIO > HCIO
2. ®

HC1O = HBrO = HIO
3.¢

HIO > HC1O = HBrO
4. %
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Correct Marks : 1 Wrong Marks : 0

The linear molecule among the following 1s

&1 300 RS’ DO BPHOL wewad)

Options :

SnClp
1. %

PbCl
2. %

SO
3. &

XeFo
4.
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Assertion (A) : In general. transition metals have high melting points.

Reason (R) : More number of electrons from ‘(n-1)d” and ‘ns’ are involved in
mteratomic metallic bonding.

QBB (A) : PSP DOSES S0 WBE HDaiS Paney SO Gold.

=Geio (R) : @908 DTS 2o S ‘(n-1)d” HOCKW ‘ns’ DUFINL
TS,

The correct option among the following is
&2 5ol 0)FOS HOGNSE

Options :

(A) 1s true. (R) 1s true and (R) is the correct explanation for (A)

L () P8, (R) 9855 9005 (4) 8 (R) KOG 258



(A) 1s true. (R) is true but (R) is not the correct explanation for (A)

(A) 855550, (R) D855350 @00 (A) § (R) DO D558 5

2.

(A) 1s true but (R) is false

(A) dBgaw, A (R) edBgan
3. %

(A) 1s false but (R) 1s true

(A) 2085w, 2 (R) dgedn
4. %
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Among the given complexes that possess “CO™ ligand bridges are
&s 80 o) NeBPOS” “CO” TPl ORI S0
[CDZ(CU)S] [Fe_;{_{;‘()}”] [M:]z{C())m] [Fez((f(})g]
I II III Y

Options :
I. IT and III

I, IT o508a8w IIT

1. %

II. IIT and IV

II. I1I oobosn IV
2. ®

LIIand IV

M 5 T
- L IT a56a8n Iv



[ IIT and IV

4 % L, TIT efofaln IV
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The amount of sucrose needed to produce 1 mole of glucose using acid hydrolysis is

296 BODIRSNES" ¥ IFS (P50 BB oot K0S FSOW?
Options :
360 g
1. %
180 g
2. %
342 ¢
3.¢
171 g
4. ®
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The order of reactivity of the following compounds towards dilute aqueous KOH in Sx*
reaction 1s

20 KOH 0soos" 23603 SN' 58565 &5 $08 a0y FSsine Sorgeh) ¢ Safoasan

CH,CH,CH,CH,Br H,CCH,CH BrCH, (CH)CHCH,Br (CH,),CBr

I1 111 A%

Options :



I<IV<HI<I

1. %

IV<II<II<I
2. %

M<II<I<IV
3. %

I<IMI<II<IV
4.
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A. B. C. D in the following reactions are

500 S8565°0 A, B, C, D e SEF

OH
. FB Aok Grd
Br,/H,O LD?H Sodalime Zinc dust
|5 ] «&———— — % |&)] ——> | &]
200-230 °C
[D]

Options :

OH Br OH
[A] —@ ,[B] @JC‘]@\ D]~ @
Br Br



2.9

OH OH OH
Br Br
[A] ©,[B]©,[Clﬁj ,[D]=©
Br

OH OH OH
Br COOH
[A] @JB]@,[CJK;( ,[D]=©
Br

4. %

[A]

OH OH OH OH
Br COOH
Qe o
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Which of the following statements are correct for phenol?

(A)
(B)
(€)
(D)

In general. phenol is more acidic than alcohol

Phenol is used in the production of melamine plastic

Phenol gives violet colour with neutral ferric chloride solution
Phenol when heated with acetyl chloride gives phenetole

dred o moiood E{Jé@oé&

(A)
(B)
(€)
(D)

Options :

PEEEIP €07 S Sold DTS %0y & @) FON Gobol.

DDODS FYE OB DT SDH TS

o~

&0 DO5 §0G Trditsots DS &3 ol B,

Ck



CandD

C obain D

Aand D

A obcin D
2. %

Band C

B o06acin C
3. %

A and C

A adain C
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The major product in the following reactions is

Sol ﬁlﬁg@fﬁéﬁ"} é,ﬁ“rﬁ &SN ;L&o
O
Cl
(C,H,),Cd
I CH, sk
Options :
HO, CH,
HO
CH,

CH, CH,



0
HO
CH,
CH. CR
3. % T TES
0
H.C;
vs CH,
0
4.9
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The major product of the following reaction is

800 SR DI &S 5

o
O
(i) NH,NH,
(i1) KOH, ethylene glycol, A
CH 38085 Asé
CH, ‘
Options :
CH,
CH ?



CH

3
e
H
CH,
o ¢
3. % '
HO OH
HC CH,
ca, H,
4. % |
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n—Propanol on treatment with concentrated HBr gives P. The product P on reaction
with KCN gave the product Q. The product Q on heating with aqueous acidic solution.
furnished the product R. The product ‘R’ is
n— FaSS PG HBr & S8g 200506 P 2 gu0d. éﬁi};@nﬁ P, KCN & 33050l Q
G93T°) D), BWod. G YES Q R W 8L Tt F& AT R &893 dbowdsS, R
L INVINTA)

Options :

Propanoic acid

SPoInS OSPaideddd
l. ® wt (2]



Propanamide

o ghé%ﬁ

Butanoic acid

wﬁaé"mzﬁ’mﬁm
3.¢ e
Butanamuide
wzgeoéa,i
4. % =
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The major product of the following synthetic sequence is

Na-Hg, C,H.OH

CH,
Options :

OH

CH

1. ® .



3. %

4.

CH,

CH,

<

CH

CH

NH,



